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log(l+2) ~ z— -2 (3.5)
tanr ~ T+ -x°, (3.6)
sinhr ~ z+ —a°, (3.7)

coshr ~ x+ —a°. (3.8)
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flz) =~ ﬂ@+f0M$—®+§ﬁ(®@—®? (3.11)
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e = cosf+isinf (3.12)
000
e —1+w+iwf+lwﬁ+lwf+m
B 2! 3! 4!
_ Lo L4 . L s L s
= 1- g0t +---]+z[e—§9 et
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¢detP = [cos A+ isin A] x [cos B + isin B]. (3.14)



DO000000000000000
B — cos(A + B) +isin(A + B). (3.15)
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[cos A + isin A] x [cos B + isin B|
= (cos A cos B — sin Asin B) + i(sin A cos B + sin B cos A)(3.16)
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cos(A+ B) = (cos AcosB — sin Asin B), (3.17)
sin(A+ B) = (sinAcosB + sin Bcos A). (3.18)
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(e = [cos(8) + isin(0)]". (3.19)
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(eiG)n — ein@
= cos(nf) + isin(nd) (3.20)
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cos20 = cos’f —sin4), (3.21)
sin20 = 2sinfcosé. (3.22)
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cos3 = cos’f — 3sin?fcosf = 4cos®d — 3cosh, (3.23)
sin30 = 3sinfcos®f — sin® 0 = 3sinf — 4sin’ 4. (3.24)
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